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In the figure below, which image shows a
pull force?
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Question

1

In the figure below, which of the following

indicates the solid state of water?

A A
B B
c D)

Question

2

2 Vgt

In the following figure, what will happen
when we heat the ice cubes shown below?
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alial Ao gl il CilmSa (pududy

A Freezing dapall
B Melting gl
C Evaporation Al




Ailianst) el ) 4 Al 5adl) ) ) = (w0

dana B iia g b 9adl dakald = cilalaall 3as)

S o ST C i)l e Alaacwo ylemd (5o

""-.-'F

50 G ul,_if‘uh Aeumiziii Le
Ga5%€ 33U dﬂuaﬁﬁyu‘eﬂwwl
Lis) LglS iy 29330

W) 5258 51 48%
i 52A0 . Gob e A aa 35| e ddlad
- - - - == 5'.—
Fiss P8 Le LES Gl Z53) _;_-._, aalisis 35U 5455 .abjy JHas
|+---v §3|-U £9° u—=
e all 233 ) 1855 Ledie Lii)

Zaliio 7555 oa aJld) 2455
iLla ._]_I=.3 ass) L...r:.;...q all) guis .._.J_ﬂ_lh ) ,__j:.L.....JI

b, 14, Gl Sl e 3 JJnJL, 3gl) El,.‘r 8 wzan
,__;' U.l._....].nJ1 d.L...:n._q. L,,“ :5..1.1. .ulj ﬁ Lq-..'l..-_:g :...'L.E.'..'t nuld u.lnL.l:ua
.d.l!J L-_h-:._'- .'i_....u

u—n—gJ
v

T i by 585 ) B0 o s

! !
In the figure below, which of the following
does not indicate a physical change?

T 5 1l 23 Pl Lan ] <ol SN 3




Aileanst) el pumtl) 4 Al 5l ) pitll) = w0

dana B puia g b gadly dakald = cilalaall 3as)

ASL AN COlnaidl o] Aldaccun CaylaeS (5=

A5 Lo ST sl e Alacnn ylamt (5 e

Bl J) B 3¥ el Jeo g3
JSa piad BLL 3¥eal) JuSES GSK
35k

Lls Aosss 3¥ead 333
o - s = H & o) TRy o N g
.e_,L,.ug_...‘._l“_,a-'al,oe_-aq_,-op_—_n

S5ty 5L G Z3S sa OF) S¥sal)
g2 rid) G dal) Gle 33LaU 3l

s HSE (Bl ki) plasidS (b)) 5e
Slniis 3 s 558 adlasally 3¥eal)
(So-) A33%Wed

eV oadt L) LBFaE ) I EE L

By qla M) Jila (e Jeay
fasaa Jilw a8 jgualy

e - ‘2.- -
T2y 0
SEaL s 15255 35U als 5235 3s3 1w .

395 — 8:143\&33#59\143\!

T




Aileanst) el pumtl) 4 Al 5l ) pitll) = w0

e B puia g b gadl dakald = cilalaall 3as)

ASL Al COlnaasdl et Ao cws CayleeS (5

A5 oS L assdl e Aldmccus CaolemS (S

“'"‘ L.....S.H c_a'J.‘.i.a." Lo

l.,,..,,.i.l! ',.._i...’" 2 ' Lh@.SJ_ S ’,.._:..J'f b e JL-.@ L@Ani '&;JL"°9 ._\LAJ g |
e davasdl 5L (aslas Jalids Sanas Slge anic Asi i) 32350
LasLadn Slaadt sl s

BLeSI ) 2300 Sl gadiis P,.,J.S"‘L..‘.....SJM__J,’._’;:J’ i P o
ol Jeami) a3lal) EbLI fasas LS cadgluds sid) i) gaagl
._Jt,f_;_m FLbn pasiss - GeranSly o1iz L) eledly (g, S0 o)

2azaat LAV 2l mnY Al ) wh) ctadl e cegi, Lig) A<
Zalidl lyaniag lydsls &%

33515 is N
Q) A Hd) T

Loduc "L-o-S_ = Jsha Sdss

Vo e L ),JJ Q,J Z;SL..H a—.’&.u
- oo SV 1580 5..:.....0 4..‘ L.S }m.u Looic
.) " é3% U" )_,_.J' i.: S .L"-\-Q ,J—..S" U'l'""

A-:LS)L.}Y‘ AL‘:-..;Y

— Sl Ol e
cla (e Jgadng —
o 08

Tl




Ailianst) el ) 4 Al 5adl) ) ) = (w0

e B puia g b gadl dakald = cilalaall 3as)

AcbLnall Ol ed Ao )l G

A basSUl Wl il ped ddaceo iyl Gy

i~ P PR
N JC o RCPSNG Y | 1 |
B35 b g5 LaSsla.S)
Jeds 3 33sasl) ass, 2!

ay yaat) ala 209

Al S G555 5SS Caus .2
SAEL) slalSU A543

il ¢ 38]) adal il
Lalaal B sl ¢ lass])
PN

Biind LS 2550 JF
dsasdl 5SJ wsasd) e d5LSJ) RS
Calids . ZaloesSI) LE3EN Jam iz
Lx...«:.J' J__._S gj_S._....._, wasJl e '..LAJ.
! 5% A LS las s
it ARy _:,ly. ;,Jl Jomite aisd)
igwds pl—'-lc-” Sl 3235

LAe¥) s 35S

ad Jia SASS

":»-'
= L)

2o Fasa 0
EsleessS al Gl ol 52350 Ja
SIS SEn1d) 2255 Ledxe

Bala (oSl 1 (AlrasS s
Aad) ) (B S s Bagaa
MY’, ;u'

-oUasd) l..».a ‘3 ..u.a.J-'



e Buia g b gadl dakald = cilalaal) 3as)

In the figure below, which of the following  Ser s Ul (o s ¥ (ol Laa ) ol Je
does not indicate a chemical change?

A
B
C C
Question 8 8 A
In the figure below, which of the ¢ jgall LiluasS | a5 Jhag ol Laa ) ool Jed

following indicates a chemical change
of the bananas?
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Which of the fools show below you can use el ikt i 10 Aaagah 31 G

to separate the iron filings from the salt ¢ BN Jaaladl paad (90 el (0 yadt 3y
without touching the mixture with the tool?
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inclined plane -

Which of the following simple machines

represents a pulley ?

TS Jia

20 ddageudh SV C3a s
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Which of the following simple machines
represents an inclined surface?

A A
B B
C < ' 5
Question 18 18 gl
The figure below represents how the lever ¢ dadl ) Jae Ay yla slial 20 (Sia)
works. Which letter indicates the force UPEPRP T RV RN

exerted?
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